10,10
& = 4-M5x0.8%6.5L
= o n_/ L= 10, 165,10 fi
n@ — ()
= = ® P.C.D.=(033
)\
® ® . |
i *é e
1)
® ® I — 8-M3x0.5*6L
® ~ ~ ® =3
2o (5] 02 :
Yo}
- < 5
o| o 450 AD
o ™~ 30 ‘ 2-M2.5x0.45*5.51
75
80 ‘ |
38
=l 5-M2.5x0.45*5L
i (Two Sides i ™ !
1 =n ”)ﬂl |NKJ.| iy TIT f . {Iﬁ‘ﬁ:
v
0 == \ — j_l J y w— > <
™ [ \}9 o ] n| &
® : i | 7 7 &
| e A
o 100 25 3 30
S
60
4-Q55EZ
R D 10%19.50 (92.4)
4-M5x0.8*9L (RE)
\ o
g O e} Cé
o
(4p]
o0 QO I
8
o oF P
(© =)=
100 25
100 35
7.5 150 62.5
22
: (FMO755A)
— & N 2 BhI U |EE A # BEEE AKRBBIGERE # B GKAC3060-50
RY&E | &£ #@mNT { e B H & FHER RESH EE ‘ ‘
00 1005 EmT: o | EE A8 [2023/4/28 | # H |REHRME[1 fa[E €| FESIERRERL
16 ~ 68 _id.1 25/ i BlE L = Http://www.gmtglobalinc.com /ﬁ\a E p::] N/A gjﬁ GKAC3060-50-12 0-PA-CPXXX
68 ~ 250 | 02 RBSEERRARDSSI (= ~ | nm BERY| A3 iR
250 ~ 1000 | 0.3 — B ¥ @{:} .
1000 ~ 1500] +0.5 TEL:886—4—768‘83?:2F7M-I_FAE8I§69%§?3$ INE. e Bl 15 EE‘ 1185.79 R N/A



http://www.gmtglobalinc.com

	圖頁1
	工程視圖1
	工程視圖2
	工程視圖3
	剖面視圖 A-A
	工程視圖5


